



The following documentation is an electronically-submitted vendor response to an advertised solicitation from the *West Virginia Purchasing Bulletin* within the Vendor Self-Service portal at wvOASIS.gov. As part of the State of West Virginia's procurement process, and to maintain the transparency of the bid-opening process, this documentation submitted online is publicly posted by the West Virginia Purchasing Division at WVPurchasing.gov with any other vendor responses to this solicitation submitted to the Purchasing Division in hard copy format.

Header @ 1

List View

General Information | [Contact](#) | [Default Values](#) | [Discount](#) | [Document Information](#) | [Clarification Request](#)

Procurement Folder: 1896815

Procurement Type: Central Purchase Order

Vendor ID: VS0000004307

Legal Name: INTERNATIONAL PROMOTIONAL IDEAS INC

Alias/DBA:

Total Bid: \$22,626.80

Response Date: 03/06/2026

Response Time: 16:16

Responded By User ID: JackR13

First Name: Jack

Last Name: Rosenfeld

Email: intl.ideas@sbcglobal.net

Phone: 847-439-6700

SO Doc Code: CRFQ

SO Dept: 0313

SO Doc ID: DEP2600000026

Published Date: 3/3/26

Close Date: 3/10/26

Close Time: 13:30

Status: Closed

Solicitation Description: REAP / AAH Promotional Items

Total of Header Attachments: 1

Total of All Attachments: 1



Department of Administration
 Purchasing Division
 2019 Washington Street East
 Post Office Box 50130
 Charleston, WV 25305-0130

**State of West Virginia
 Solicitation Response**

Proc Folder: 1896815
Solicitation Description: REAP / AAH Promotional Items
Proc Type: Central Purchase Order

Solicitation Closes	Solicitation Response	Version
2026-03-10 13:30	SR 0313 ESR03062600000005764	1

VENDOR
 VS0000004307
 INTERNATIONAL PROMOTIONAL IDEAS INC

Solicitation Number: CRFQ 0313 DEP2600000026
Total Bid: 22626.79999999999927240423858 **Response Date:** 2026-03-06 **Response Time:** 16:16:10
Comments:

FOR INFORMATION CONTACT THE BUYER
 Joseph (Josh) E Hager III
 (304) 558-2306
 joseph.e.hageriii@wv.gov

Vendor Signature X **FEIN#** **DATE**

All offers subject to all terms and conditions contained in this solicitation

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
1	Backpack Coolers	20.00000	EA	15.590000	311.80

Comm Code	Manufacturer	Specification	Model #
80141605			

Commodity Line Comments:

Extended Description:

Backpack Coolers
per section 3.1.1 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
2	Crossland Camp Chairs, or equal	20.00000	EA	23.000000	460.00

Comm Code	Manufacturer	Specification	Model #
80141605			

Commodity Line Comments:

Extended Description:

Crossland Camp Chairs, or equal
per section 3.1.2 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
3	Oversize Beach Towels	20.00000	EA	25.500000	510.00

Comm Code	Manufacturer	Specification	Model #
80141605			

Commodity Line Comments:

Extended Description:

Oversize Beach Towels
per section 3.1.3 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
4	Recycled Blend Totes	50.00000	EA	10.000000	500.00

Comm Code	Manufacturer	Specification	Model #
80141605			

Commodity Line Comments:

Extended Description:

Recycled Blend Totes
per section 3.1.4 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
5	60" Sport Umbrella	20.00000	EA	13.000000	260.00

Comm Code	Manufacturer	Specification	Model #
80141605			

Commodity Line Comments:**Extended Description:**

60" Sport Umbrella
per section 3.1.5 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
6	Outdoor Essentials Kit	50.00000	EA	6.000000	300.00

Comm Code	Manufacturer	Specification	Model #
80141605			

Commodity Line Comments:**Extended Description:**

Outdoor Essentials Kit
per section 3.1.6 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
7	Bamboo Cutting Boards	20.00000	EA	20.000000	400.00

Comm Code	Manufacturer	Specification	Model #
80141605			

Commodity Line Comments:**Extended Description:**

Bamboo Cutting Boards
per section 3.1.7 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
8	First Aid Kit	2750.0000	EA	3.500000	9625.00

Comm Code	Manufacturer	Specification	Model #
80141605			

Commodity Line Comments:**Extended Description:**

First Aid Kit
per section 3.1.8 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
9	3-in-1 Cable Charger and Pouch	1750.0000	EA	4.000000	7000.00

Comm Code	Manufacturer	Specification	Model #
80141605			

Commodity Line Comments:**Extended Description:**

3-in-1 Cable Charger and Pouch
per section 3.1.9 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
10	Eco-friendly Sticker Books, or equal	1000.0000	EA	1.000000	1000.00

Comm Code	Manufacturer	Specification	Model #
80141605			

Commodity Line Comments:

Extended Description:

Eco-friendly Sticker Books, or equal
per section 3.1.10 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
11	Four (4) Pack Soy Crayons	1500.0000	EA	0.460000	690.00

Comm Code	Manufacturer	Specification	Model #
80141605			

Commodity Line Comments:

Extended Description:

Four (4) Pack Soy Crayons
per section 3.1.11 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
12	Recycled Mood Pencils with matching eraser	2000.0000	EA	0.360000	720.00

Comm Code	Manufacturer	Specification	Model #
80141605			

Commodity Line Comments:

Extended Description:

Recycled Mood Pencils with matching eraser
per section 3.1.12 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
13	License Plate Frame	100.00000	EA	4.000000	400.00

Comm Code	Manufacturer	Specification	Model #
80141605			

Commodity Line Comments:

Extended Description:

License Plate Frame
per section 3.1.13 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
14	Handy Breeze Fan and Flashlight	50.00000	EA	4.500000	225.00

Comm Code	Manufacturer	Specification	Model #
80141605			

Commodity Line Comments:

Extended Description:

Handy Breeze Fan and Flashlight
per section 3.1.14 of the attached specifications

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
15	Inspired Notebook with Pen	75.00000	EA	3.000000	225.00

Comm Code	Manufacturer	Specification	Model #
80141605			

Commodity Line Comments:

Extended Description:

Inspired Notebook with Pen
per section 3.1.15 of the attached specifications

AGENCY SOLICITATION NUMBER – ARFO _____
Addendum Number: _____

The Purpose of this addendum is to modify the solicitation identified as (“Agency Solicitation”) to reflect the change(s) identified and described below.

Applicable Addendum Category:

- Modify bid opening date and time
- Modify specification of product or service being sought
- Attachment of vendor questions and responses
- Attachment of pre-bid sign-in sheet
- Correction of error
- Other

Description of Modification to Solicitation:

This Addendum issued to publish and distribute the attached documentation to the vendor community.

Additional Documentation: Documentation related to this Addendum (if any) has been included herewith as Attachment A and is specifically incorporated herein by reference.

Terms and Conditions:

1. All provision of the Agency Solicitation and other addenda not modified herein shall remain in full force and effect.
2. Vendor should acknowledge receipt of all addenda issued for this Agency Solicitation by completing an Addendum Acknowledgement, a copy of which is included herewith. Failure to acknowledge addenda may result in bid disqualification. The addendum acknowledgement should be submitted with the bid to expedite document processing.

REAP Adopt a Highway Program

Promotional Travel Accessory Bags

ARFQ DEP 23*44

Vendor Questions and Agency Answers

Q1.) Do you have previous bid tabulation?

A1.) No, this item has not been bid through Wv Oasis previously.

Q2.) Can you provide a picture of the exact bag you are requesting and reference link to get clear picture what you need?

A2.) <https://www.4allpromos.com/product/multi-purpose-travel-bag>



Q3.) Do you accept alternates?

A3.) Yes, as long as the alternative meets the listed specifications.